



DELICIOUS FRENCH FRIES

- Best in class length.
- Perfect balance of taste & texture.
- Perfectly pair with various seasonings.

PACKING DETAILS

• 5 x 2.5 Kg Bags = 12.5 Kg Box

INGREDIENTS

Potatoes, Refined Vegetable Oil



2.5-3 mins



170°C-180°C





LENGTHWISE CLASSIFICATION







SIZEWISE CLASSIFICATION



- Perfect size.
- Consistence quality round the year.
- From selected variety of potatoes.





OTHER PRODUCTS

PACKING DETAILS

• 5 x 2.5 Kg Bags = 12.5 Kg Box

INGREDIENTS

Potatoes, Refined Vegetable Oil



STEAKHOUSE FRIES



CRINKLE FRIES



FRIES SKIN-ON



OTHER PRODUCTS

POTATO WEDGES PACKING DETAILS

• 5 x 2.5 Kg Bags = 12.5 Kg Box



WEDGES SKIN-ON



WEDGES SKIN-OFF



POTATO CUBES



PACKING DETAILS

- 10 x 1 Kg Bags = 10 Kg Box
- 5 x 2.5 Kg Bags = 12.5 Kg Box

INGREDIENTS

Potatoes, Refined Vegetable Oil



OVAL HASHBROWN1 Pcs = 55 Gm



TRIANGULAR HASHBROWN

1 Pcs = 50 Gm



SWEET POTATO FRIES



ALOO TIKKI

Fraytoz Aloo Tikki is made with smooth mashed potatoes and mild spices, offering a balanced and flavourful bite every time. Easy to cook and consistently high in quality, it fits perfectly into chaats, quick snacks, or patty-based dishes, making your menu both versatile and convenient.

PACKING DETAILS

- 8 Pcs x 1.5 Kg = 12 Kg
- 37 Pcs In Each Pack of 1.5 Kg

COOKING INSTRUCTION



Heat edible oil to approximately 175°C.



Add the Aloo Tikki directly from the freezer into the heated oil.



Gently shake the frying basket after 45 seconds to ensure even cooking.



Fry until the desired color and crispiness are achieved (approximately 3 minutes).



Remove any floating debris with a strainer before frying the next batch.





HERB POTATO PATTY

Fraytoz's Herb Potato Patty delivers a true "heaven-in-the-mouth" experience. Made by blending potatoes with fragrant herbs and balanced spices, it elevates any burger with ease. Its flavourful profile ensures the burger stands out not just for sauces or toppings, but because of the patty itself. Enjoy it on its own or use it as a base for creative regional and international dishes.

PACKING DETAILS

27 Pcs In Each Pack of 1.5 Kg
 8 Pcs x 1.5 Kg = 12 Kg

COOKING INSTRUCTION



Heat edible oil to approximately 175°C.



Add the Herbed Potato Patty directly from the freezer into the heated oil.



Gently shake the frying basket after 45 seconds to ensure even cooking.



Fry until the desired color and crispiness are achieved (approximately 2.5-3 minutes).



Remove any floating debris with a strainer before frying the next batch.



PREMIUM VEGGIE DECKER

A quick, 100% vegetarian, veggie-loaded burger ready in under 5 minutes—perfect for QSRs. Fraytoz's Premium Veggie Decker is a wholesome, satisfying, easy-to-cook potato-veggie patty for retail and HoReCa. Crispy outside, veggie-packed inside—just bake or fry, assemble with onions, tomatoes, and cheese in a bun or pav, and your flavourful burger is ready in minutes.

PACKING DETAILS

- 12 x 1.2 Kg Bags = 14.4 Kg Box
- Each Pack-20 Pcs of 60 Gm = 1.2 Kg Bag

COOKING INSTRUCTION



Heat edible oil to approximately 175°C.



Add the Premium Veggie Decker directly from the freezer into the heated oil.



Gently shake the frying basket after 45 seconds to ensure even cooking.



Fry until the desired color and crispiness are achieved (approximately 2.5-3 minutes).



Remove any floating debris with a strainer before frying the next batch.





FRONT TO BACK -**PURE PERFECTION** IN EVERY PACK















































PRODUCT & MASTER PACKAGING





ACTUAL PRODUCTS













WHERE QUALITY MEETS INNOVATION

High-Quality Potato Flakes for Every Application



Standard Flakes

Milled Potato Flakes

Potato Flakes: Low Leach

FraytozTM COVEAT FIRST BITE

GET IN TOUCH

Suresh Garg GM- Sales & Marketing

- © +91 92279 95338 | 98130 81464
- suresh.garg@fraytoz.com
- www.fraytoz.com
- © Corporate Office: 902-903, Times Square Arcade, Nr. Ravija Plaza, Thaltej-Shilaj Road, Thaltej, Ahmedabad 380059.

Works: Village Mudarda, Tal. Jotana, Dist. Mehsana - 384421.

Karnal Office: SCO-104, 2nd Floor, Sector 5 Market, Karnal (HR) - 132001.

